BIC Selection Results

Best model tree (NNI)

Model ro1+1 K((PS:0.01021826,24:0.00719757):0.00151199,
partition 000000 {P6:0.00680654,P1:0.00000003):0.00204506):0.01267608,03:0.01665876,92:0.00459802);
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B number of estimated parameters Ml 10333428 2197,3478 0,8493 0,84%3
a1c: Bayesian Information Criterion HKY+I  1033,0700 13 2202,84%¢ 3.5018 0,0342 0,903
delta: BIC difference rai+G 1030,3433 14 2203,3328 6,0030 00,0422 0.9437
FAl+1+G  1032,3430 2303,7933 0.4477 0,0238 0,9793
TrNel  1032,40892 2208,0932 10,7474  ©,001% ©,2014
TPMIuf+l  1032,3667 2208,2903 10,9423 09,0036 0,9870
TPMIufel  1032,3943 2208,3460 10,9782 ©0,0033 ©,2703

A 208777 Ma so0a  eeem
TPMIufel  1032,9833 2209,1273 11,7737  ©0,0024 0,9738
HKY+I+G  1093,0093 2209,2936 11,9477  0,0022 09978

weaight: BIC weaight
cumwesght: curmnulative BIC waight

There are 88 modds in the 100,00% confidence Interval:
FOI+1HKY+1 FE14+0 FB1+1+0 TrN+I TEM3uT+1 TEM2ul+]
HKY+G TPMIuf4] HKY 414G TIM3 41 TIM241 F81 TPM2uf+ G Letn b 2l st U Lls -l
TrN4 G TPM3ufe G TIMI4I TIN4I4G TPM3ufLI4G TiMzsl  1032,0070 213,731 10,3%03  0,0002 0,99383
TPM2uf+1+G TPM1uf+ G TPMIUf+I+G HKY TIM2+G TIM3+G Fa1 1084,9637 2213,7424 10,3%24¢  0,0002 ©,97a3
TIMI+I+0 TIMZ241+0 TIM1+ 0O TIM1+1+0 TVM+1 TPM2uf THMIUr+G  1033,4084 2214,0937 10,7438 0,0002 0,9987
TN TEM3UT TPMIUT OTR+T TVM4E0 TVMEI+0 TIM2 TIMS TrN+G 1035,4712 2214,0990 18,7312 0,0002 0,973%
TIML GTR+G GTR+I4+GTVM GTR XC+1 KBO+1 )C+14G XC4+ G
TPM3 &I TrNef+ I TPM241ITPM141 KBO4I4G KBO4G IC
TIM3cf+I TIM2eF+ I TPM3+ I+ G TIM1ef+I TrNef+ 14 G
TPM2+1+0G TINS+ G TPMI+ G TPM1I+I+ G TPM1+ G TPM2+ 0
KBO TIM3ef+1+0 TVMal+1 TIM3el+0 TIM2el+1+0
TIMIH+I+G TIMIA+G TIM2a4+G Trnef TPM3 TEM]L TPM2 TPM2ur=Is0 1032,3%30 2214,7333 17,430 ©.,0001 0.9%y7
SYM41 TVMefse14G TVMef+ G TIM3of TIM1ef TIM2ef TAMIuf+G  1033,9623 2215,0833 17,7337 0,0001 0,9933
SYM+14G SYM+ G TVMef SYM

TPM3ur+G 1033,%3¢7 2214,3303 10,9823 ©.,0002 0,9991
TiM1 +1 1032,3824 2214,385%0 17,0212 ©,0002 0,999
TMN+1+06 1032,40%3 2214,332% 17,190 ©.0002 0,993%

TPMiuf«l+G 1032,3682 2314,7388 17,3388 0,0001 0,995




